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This Test Booklet contains 60 questions printed in English and
Hindi. Out of these, the candidate is required to answer any
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the first 50 answered questions will be considered for
evaluation.

When you are given the OMR Answer Sheet, fill in your
particulars on it carefully with blue/black ball point pen only.
Use only Blue/Black Ball Point Pen for marking responses.
The CODE for this Test Booklet is C. Make sure that the
CODE printed on the OMR Answer Sheet is the same as that
on this Test Booklet. Also ensure that your Test Booklet No.
and OMR Answer Sheet No. are exactly the same. In case of
discrepancy, the candidate should immediately report the
matter to the Invigilator for replacement of both the Test
Booklet and the OMR Answer Sheet. No claim in this regard
will be entertained after five minutes from the start of the
examination.

Before attempting the question paper kindly check that this
Test Booklet has total 28 pages and OMR Answer Sheet
consists of one sheet. At the start of the examination within
first five minutes, candidates are advised to ensure that all
pages of Test Booklet and OMR Answer Sheet are properly
printed and they are not damaged in any manner.

Each question has four answer options. Out of these four
options choose the MOST APPROPRIATE OPTION and
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Sheet with a Blue/Black Ball Point Pen.
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501 EH/C (2)

1.

Simplify : 24 + 4x2+8-4="2

(1 1 2) 7 3) 16 4) 56
. : 1 8 7 7 5.
The difference of the greatest and the smallest of the fractions 5, H, g, 5, g IS :
3 6 7 1
H — 2) — 3) — 4) —
O @ 3 O @ 3

The sum of LCM and HCF of two numbers is 854. If the LCM is 60 times the HCF and one of the numbers

is 70, then the other number is

(1) 160 2) 164 (3) 168 @) 172

The present age of Harish is 8 times the sum of the ages of his two sons at present. After 8 years, his age

will be 2 times the sum of the ages of his two sons. The present age of Harish (in years) is :
(1) 31 2) 32
3) 33 (4) 34

In an examination, it is required to get 300 marks to pass. A student gets 225 marks and is declared fail by

10% marks. What are the maximum marks of the examination ?
(1) 700 (2) 750
(3) 800 (4) 850

In a class of 40 students, ratio of boys and girls is 3 : 2 and the average marks scored by boys is 42 and that

by girls is 46. Then the average marks scored by the whole class is :
(1) 434 (2) 43.6
(3) 438 4) 44

The sum of three numbers is 136. If the ratio between the first number and the second number is 2 : 3 and
that between the second and the third number is 5 : 3, then the first number is :

(1) 42 (2) 40
(3) 36 4) 32
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501 EH/C (3)
1. TWAHINT: 24 + 4x2+8-4=2
(1) 1 2) 7 (3) 16 4) 56

2. dRRTRRNET gow a2 K gad B i s AT e

18775
211787 9° 6
3 6 7 1
1 = 2) — 3) — 4) —
()8 ()7 ()9 ()3

3. I HEATS! % HaH SHTIE (LCM) 3R e gamaades (HCF) 31 ANThe 854 © | Al TEad qamiad, 7ead
HHTTE T 60 THT & 3R T T 70 2, A1 godl e e -

(1) 160 (2) 164 (3) 168 4) 172

4. TR HT FAH T 36 1 Sl shl TAHH ST o ATTHS T 8 TAT € | 8 TN o S1E ITehT IR IHoh al oI hl 3R
o AT hT 2 THT &1 ST | &L097 shl Iqa AT (9 H) & -

(1) 31 (2) 32
(3) 33 4) 34

5. U wer §, A0 8 % Tt 300 37k UTH A hY STSTIeRdT BT ® | Uk B Wi 225 ik field € o 38
10 fereTer 7Rt & STefoT Enfiyer fopam e & | ot ok stfereham ik @ € 2

(1) 700 2) 750
(3) 800 (4) 850

6. 40 BT hl T T H, TASH! ST ASTRAT hT ST 3 : 2 B I ASh! GRT I STed 31 42 & SR Aefrat g1
46 | 1 QLT e ZI STH e e e
(1) 43.4 (2) 43.6
(3) 43.8 (4) 44

7. St AR 136 © | AT e S S qui e o ofte i S 2 ¢ 3 ¥ S gu o et wen
o STl 1 SAFATA S : 3 2, T Teel HEAn e :

(1) 42 (2) 40
(3) 36 4) 32
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501 EH/C (4)

8.

10.

11.

12.

13.

14.

15.

An item is sold for ¥ 504 after allowing 20% discount and still a profit of 5% has been earned. The marked
price is how much more than the cost price ?

(1) T120 (2) T135
(3) T150 (4) 160

A certain sum becomes ¥ 2,356 in 3 years and ¥ 2,660 in 5 years on simple interest. The value of sum is :

(1) %1,800 (2) 71,880 (3) 1,900 (4) 1,980

In a square, lengths of the diagonals are (4k + 6) cm and (7k — 3) cm. The area of the square (in crnz) is :

(1) 144 (2) 162 3) 169 4 172
The volume of a cylinder having base radius 3 cm is 396 cm?>. Find its curved surface area (in cm?).
22
Usen= —
( )
(1) 280 (2) 3015 (3) 2064 (4) 320.6

A tap can fill a tank in 6 hours. After half the tank is filled, three more similar taps are opened. What is the
total time taken to fill the tank completely ?

(1) 4 hours (2) 5 hours

(3) 3 hours 30 minutes (4) 3 hours 45 minutes

A train running at the speed of 80 km/h crosses a 350 m long tunnel in 36 seconds. The length of the train
(in m) is

(1) 350 (2) 380 (3) 420 (4) 450

If the mean of 3, 4, 9, 2k, 10, 8, 6 and (k + 6) is 8, and mode of 2, 2, 3, 2p, 2p + 1), 4, 4, 5 and 6
(p is a natural number) is 4, then the value of (k — 2p) is :

(1 o 2 1 3) 2 4) 3

In triangle ABC, points D and E are on AB and AC respectively such that DE is parallel to BC. If
AD =6 cm, DB =4 cm, AE =9 cm, then the length of EC (in cm) is

(1 7 2) 6.4 3) 6 4) 5.5

SPACE FOR ROUGH WORK / T% S o feTu S8



501 EH/C (5)

8.

10.

11.

12.

13.

14.

15.

foeft SReq T 20% 2 o o A1E I8 T 504  SI=T ST & SR [ oft 36 SReq W 5% 1 oI SAfSi foparm STrar € |
SHferet T, T oo § fordT e & 2

(1) %120 2) T135

(3) %150 4) ZT160

e T3 T STemor TSt 0 3 At 7 £ 2,356 ST 5 A 6 T 2,660 B S & | T TR A ed R 2
(1) 1,800 (2) 1,880 (3) 1,900 4) 1,980

T it 8, fersputt T @S (dk + 6) em 3 (7k — 3) cm & | a7 T 8RS (cm2H) ® :
(1) 144 2) 162 (3) 169 4) 172

SR B3T3 cm ATl SIe 3T ST 396 cm? © | $6RT 95k TEIT &% (cm? H) 1d HIfST |
(n= 27—2)%73@113%)

(1) 280 (2) 301.5 (3) 264 (4) 3206

T 3 o W H T T3 6 H AT & | ST & WA o 9IS, Tl T8y Si¥ o1 37K 9159 <o | @it 7T | 3o ol

W H e foheT w8 i 2
(1) 46 Q) 5%
(3) 330 fme (4) 3% 45 fiFe

80 km/h 3T Tt & T AT T & 350 m Tt GO T 36 Tohe H TR AT @ | 37 31 s (m ) gl
(1) 350 (2) 380 (3) 420 (4) 450

a3 3, 4, 9, 2k, 10, 8, 6 3T (k + 6) HATEA 8 7, 3 2, 2, 3, 2p, 2p + 1), 4, 4, 5 3 6 (p T TTHfh TEAT 2)
I 4 2, Al (k —2p) FIAAR

() o 2 1 3 2 4) 3

Bt ABC H, foig D #iR E s5921: AB 3R AC W 36 o & fo DE, BC % §WMI € | A AD = 6 cm,
DB =4 cm, AE =9 cm &, @ EC I &iaTS (cm ¥) ® ;

(1 7 2) 6.4 3) 6 4) 5.5
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501 EH/C (6)

16.

17.

18.

19.

20.

4
If sin A= 3 then (3 —tan A) (2 +cos A) =

12 13 13
O @ 7 G 7 “4) 3

A man can row a boat at 8 km/h in still water. If the speed of the water current is 2 km/h and it takes him

2 hours to row to a place and come back, then how far off (in km) is the place ?
(1) 75 2) 6 3) 95 4 10
From the given options, which pass connects Jammu with Srinagar ?

(1) Banihal pass (2) Nathu La pass
(3) Niti pass (4) Rohtang pass

Which of the following is not correctly matched regarding Padma Awards-2024 ?
(1) Padma Vibhushan Award — Shri Konidela Chiranjeevi

(2) Padma Shri Award — Mithun Chakraborty

(3) Padma Bhushan Award — M. Fathima Beevi

(4) Padma Bhushan Award — Sitaram Jindal

Match List-I with List-II :

List-I List-IT

Person Area of work
(A) Vishakhadatta (D Medicine
(B) Kartikeya Sarabhai (I) Poet
(C) Charaka (II) Environmentalist
(D) Satyendra Nath Bose (IV) Mathematics

Choose the correct answer from the options given below.
(1) (A)- (@, (B) - (), (C) - (IV), (D) - (1)
(2) (A)-(D, (B) -, (C) - (@), (D) - (IV)
(3) A -dD, (B) - (D, (C) - (1), (D) - AV)
4 A -dID), (B) - (IV), (C) - (1), (D) - (II)

SPACE FOR ROUGH WORK / T% S o feTu S8



501 EH/C (7)

4
16. ¢ sinA= 3 ar (3—tan A) (2+cos A)=

17.

18.

19.

20.

12 13 13
(D r (2) EY (3) 3 4 3
T ATeHT e qt § 8 km/h Y THAR & ATel IIAT HebelT @ | IS STd TaT@ o 7T 2 km/h & 31T 38 Teh €A 9T

ST SR ST ST H 2 5 A €, o8 T 9 a1 g (km H) © 2

(1) 7.5 2) 6 (3) 9.5 4) 10
T T forpedt 4 &, S 1 2R & -8 o Sirear & 2

(1) sfera e (2) e

(3) Hfaed (4) Tgam e

T REHR-2024 3 Haie & fefafiaa & & s-a e gafera 78¥ 2 2
(1) o= foror qreepit — #ft ahifsa fedshiat

(2) TR 2t QUEHR —> T =rsheicl

(3) TR 99T QLEHT —> |, BT sfislt

(4) T 9907 JLEHT —> HqWH fofeet

FAI-1 SR gEA-11 b gHferd HIg :

-1 -1

sateR ST T &
(A)  fosmaTed (1) fafear @fsfem)
(B)  aprfciera arRINTE 1)
© == (1) TFTeRoTeg
(D) gz A (V) wifora
et faw g forspeat # € wEt SR = |

(1 (A)- D, (B) - I, (C) - (IV), (D) - (IT)
(2) (A)-(D), (B) - 1), (C) - (), (D) - (IV)
() (A)- (D), (B) - (@), (C) - (1), (D) - (IV)
(4) (A)- I, (B) - (IV), (C) - (D), (D) - (II)

SPACE FOR ROUGH WORK / T% i o feTu S8



501 EH/C (8)

21.

22,

23.

24.

25.

The following states were formed after 1960. What was the correct sequence of their formation ?

(A) Haryana (B) Sikkim

(C) Nagaland (D) Goa

Choose the correct answer from the options given below.

() (©), (B), (A), (D) 2) (©), (A, (B), (D)
(3) (©), (D), (A), (B) 4 (D), (O, (A), (B)

Out of the given options, which scheme’s objective is to conduct an annual survey at the gram panchayat

level to monitor the progress in the development process of rural areas ?
(1) Mission Antyodaya (2022-23) (2) Mission Karmayogi (2022-23)
(3) Mission Rashtriya Gokul (2022-23) (4) Mission Atmanirbhar Bharat (2022-23)

Which one of the following countries is not a member of the "Quadrilateral Security Dialogue", also
known as "QUAD" ?

(1) China (2) Japan
(3) India (4) Australia

Who has become the first woman chairperson of the Railway Board of Indian Railways in 2023 ?

(1) Jaya Verma Sinha (2) Mita Vashishth
(3) Ravneet Kaur (4) Vasudha Gupta
Match List-1 with List-II :
List-1 List-11
Country Currency
(A) Myanmar () Ruble
(B) Russia (I) Ngultrum
(C) Malaysia (II) Kyat
(D) Bhutan (IV) Ringgit

Choose the correct answer from the options given below.
(1 A -, B) - (D, (C) - AI), (D) - AV)
(2) A -dID), B) - (D), (C) - AV), (D) - (II)
(3) (A)-aV), B) - D), (C) - (1D, (D) - (1)
(4) (A)-(D), (B) - @, (C) - (IV), (D) - (III)

SPACE FOR ROUGH WORK / T% S o feTu S8



501 EH/C (9)

21.

22,

23.

24,

25.

1960 =8 f=fTiad U= o1 T Toram =T | 39 T3 T Tl 5hH RIT T 2

(A) i (B) Tafererm
(ORELISE (D) T

e fow e forered o & el S |

(1) (0. (B). (A), (D) ) (C), (A), (B), (D)
3) (0). (D), (A), (B) 4) (D), (C), (A). (B)

feu o foereat 9 O fore ISAT SR 329 urHior &= <A faeere afskar § woifa Y FroE & forw o demed ' W
Teh aTfeh TequT HEAT R 2

(1) o siaes (2022-23) (2) Torgm st (2022-23)
(3) Toem Tedia e (2022-23) (4) Torgmr seRtadt wIva (2022-23)
freaferfiaa H & -8 <37 “=IqS Yeai arat &1 geed T8t €, (S “F6re (QUAD)” % & H +ff STHT ST & 2
(1) == (2) SU=E
(3) wnd (4) ofegferam
2023 H RA {Ad 1S shT Ugell AfeetT 3Teel i a1 § 2
(1) < awf famr (2) Harakms
(3) T &R (4) gETTHT
-1 37 -1 1 gHferd i :
-1 -1
il =
(A) =R I @&
B) w= 1) eTeH
(©) waifsmm (1) FTd
D) wer av) fifre
et fog T oo & € Wt ST |

(1) (A) - ), (B) - (1), (C) - (I1), (D) - (IV)
(2) (A)- ), (B) - (), (C) - (IV), (D) - (II)
(3) (A)-AV), (B) - (D), (C) - (I1D), (D) - (IN)
(4 (A)-(1), (B) - (@, (C) - (IV), (D) - (1)

SPACE FOR ROUGH WORK / T% i o feTu S8



501 EH/C (10)
26. "Jhulaghat Suspension Bridge" between India and which country has become fully operational now ?
(1) Bhutan (2) Nepal
(3) China (4) Myanmar
27. Due to ocean acidification when the ocean becomes more acidic, what happens to the pH level of the
ocean ?
(1) The pH level goes down.
(2) The pH level stays the same.
(3) The pH level goes up.
(4) The pH level becomes zero.

28. Who is the first para-athlete to receive the Padma Bhushan award in India ?
(1) Bhavina Patel
(2) Devendra Jhajharia
(3) Avani Lekhara
(4) Mariyappan Thangavelu

29. Zemu Glacier is located in which state of India ?
(1) Uttarakhand (2) Himachal Pradesh
(3) Sikkim (4) Arunachal Pradesh

30. Who among the following is Chile’s first woman President ?
(1) Mary Robinson
(2) Michelle Bachelet
(3) Kim Campbell
(4) Jennifer Shipley

31. Which organisation developed and launched 'Ugram' Indigenous Assault Rifle for the armed forces ?
(1) ISRO (2) BEL
(3) HAL (4) DRDO

32. Which of the following substances is a bad conductor of electricity ?

(1) Diamond (2) Gold (3) Silver (4) Graphite

SPACE FOR ROUGH WORK / T% S o feTu S8



501 EH/C (11)

26. T A form Q31 oh sfter “gfeiTee S fors el gt ate ¥ =] &1 T g 2
(1) ¥eH (2) At
3) == (4) TER

27. TETHNR 3TrAIehor & 0T ST HETETR ARIeh el 21 ST 8, dY AR o e (pH) &t T ST IaT @ 2
(1) = (pH) TR FA T AT E |
(2) T (pH) W HHH QT2 |
(3) W= (pH) T ¢ TR |
(4) = (pH) TR A B S@IE |

28. RA H U7 U7 TR JTH L aTel Tt HRI-TYeie i 8 2
(1) feATaee
(2) % AT
(3) A AT
(4) AIEH S

29. S AR MR o fore Toa & feara & 2
(1) SHES (2) Teumeet ywew
(3) fafrrm (4) STRUTTEA JaIT

30. fr=fetfaa § @ faeft (Chile) i weelt afger weufa e € 2
(1) B0 Tfera
() T S=ee
(3) o Fuea
(4) S famoett

31. Torm TTaT 3 TeE ot o fTT 'Ugram' TQeft 316Tee Tswhe forenféra 3 aifea i & 2
(1) & (ISRO) (2) s (BEL)
(3) TEUuA (HAL) (4) SARERAT (DRDO)

32. Ffafad ® & SHiF-a1 vaTel e[ 1 Femerh § 2
(1) & (2) €M (3) =rar (4) IrsE
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501 EH/C (12)

33.  Which of the following disease is caused due to the deficiency of proteins ?
(1) Arthritis (2) Kwashiorkor
(3) Goitre (4) Night Blindness

34. Match List-I with List-II :

List-1 List-II
Navy (Institution) Place
(A) INS Chilka (D  Goa
(B) INS Hansa (I)  Andhra Pradesh
(C) INS Satavahana (III) Kerala
(D) INS Garuda (IV) Odisha

Choose the correct answer from the options given below.
(1) (A)-dID), (B) - (D), (C) - (D), (D) - AV)
2 A)-d,(B)-1AV), (C) - (D), (D) - (1)
(3) A)-AV), (B)- D), (C) - (1), (D) - (II)
4 A)-aAV), (B)- D), (C) - (ID), (D) - (1)

35. DRDO has conducted the first successful flight test of Agni-5 missile equipped with MIRV technology.
What is the full form of MIRV ?

(1) Multiple Independently Targetable Re-Entry Vehicle
(2) Mission India Target Re-Entry Vehicle

(3) Multiple Independently Technology Re-Entry Vehicle
(4) Multiple Indirect Targetable Re-Entry vehicle

36. Which Indian has won the "Ramon Magsaysay Award-2023" ?
(1) Korvi Rakshand
(2) Ashwini Kumar
(3) Dipti Ranjan Sahoo
(4) Dr. Ravi Kannan R.

SPACE FOR ROUGH WORK / T% S o feTu S8



501 EH/C (13)
33. fa=fefaa @ @ -t start 1ida i ot 6 wror g R 2

(1) i ) FRERER
(3) T (ME) (4) e
34,  GE-1 SR -1 i gHfed HIfT
Teit-1 Teit-11
ATEAT (EET) T
(A)  aTSuATE Feh D T
(B) sTuTH g (ID) 377 e
(C) IS HrqaTeT (III) A
(D)  FTSTTE e (V) feem
et fo e foremed # @ wet ST |

(1) (A) - ), (B) - (1), (C) - (I1), (D) - (IV)
2) (A)-D,(B)-AV),(C) - D), (D) - (III)
(3) (A)-(1V), (B) - (1), (C) - (1D, (D) - (II)
(4) (A)-(1V), (B) - (@), (C) - (D), (D) - (IIT)

35. AT, J UH.IE. IR AL, qoheAloh | A ATH-5 et 1 It ahet IS ulieor foha € | v o1Ts. T A,
(MIRV) 3T 901 &9 RIT 2 ?
(1) AU gfeusedt erteaa 0-ugdt fogarat
(2) o 3fean anfe fud foeare
(3) AU Sfeudeett e 4-Ug fogarat
(4) TS e hiead {-Ugt fogshat

36. ToR® R 5 “T H¥ qUEhR-2023” ST @ 2
(1) HREt e
(2) At AR
(3) difw s | g
(4) I TaFH .

SPACE FOR ROUGH WORK / T% i o feTu S8



501 EH/C (14)

37. Who has been appointed the Chairman of the 16" Finance Commission of India ?
(1) Ajay Narayan Jha
(2) Smt. Annie George Mathew
(3) Pradip Kumar Mohanty
(4) Dr. Arvind Panagariya

38. Sri Ranganathswamy Temple which is situated in Tamil Nadu, is dedicated to which deity ?
(1) Lord Shiva
(2) Lord Vishnu
(3) Goddess Durga
(4) Goddess Lakshmi

39. The Election Commission of India gets the power to conduct elections from which of the following

articles ?
(1) Article 324 (2) Article 280
(3) Article 264 (4) Article 26

40. Match List-I with List-II :

List-1 List-11
Centre of Handicraft State
(A) Mon ) Arunachal Pradesh
(B) Nalbari (I)  Assam
(C) Pasighat (III)  Meghalaya
(D) Tura (IV) Nagaland

Choose the correct answer from the options given below.
(1) (A)-@V), (B) - 1D, (C) - (D), (D) - (1)
2) (A)-@,®B)-d0D), (C) - AV), (D) - D)
(3) (A)-AV), (B)- D), (C) - (1), (D) - (II)
@ @A) -D, B)-dD, (C) - AV), (D) - (IIT)

SPACE FOR ROUGH WORK / T% S o feTu S8
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37.

38.

39.

40.

I o 1631 Tor STANT o1 3Tearet forr Tk feram T 8 2
(1) TSR TR 31

(2) =it Tt SISt freg.

(3) WEIT FAR ArEdt

(4) . Infaig wmfean

TS T #ft TrrereaTeft #feT forer e o gmftia 8 2
(1) weE g

(2) sE faoy

(3) cat g

(4) < aedt

TR o AT TN ot Ffoifaa 5 & forer 1= & AT o a1 STTUeR e @ 2

(1) 1T 324 (2) FTeE 280
(3) =8 264 (4) =T 26
-1 37 -1 1 gfeTd i :
Tei-1 Teit-11
TEAEY hy T
(A) #H (I) TRV JoTT
(B) e (I) 3Eq
(C) T (1) Aerer
(D) T (1V) TS
it fow T forshedi # & wET SR T |

(1) (A)- V), (B) - (ID), (C) - (D), (D) - (1)
2 (A)- D, (B -0, (C) - (IV), (D) - (D)
(3) (A)- V), (B) - (), (C) - (D), (D) - (D)
@ (A)-D,B) -1, (C) - AV), (D) - (1)
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41. In which state is ‘‘Amchang Wildlife Sanctuary’’ loacted ?
(1) Assam (2) Rajasthan
(3) Odisha (4) Manipur

42. India’s first 3D-printed Post Office has been inaugurated in :
(1) Guwahati (2) Kolkata
(3) Mumbai (4) Bengaluru

43. What should come in the place of the question mark (?) in the following alphanumeric series ?

A1X, B4P, E25J, J100F, ?
(1) 0289D (2) 0225E
(3) Q289D (4) Q225E

44. In the given analogy, choose the word which will replace the question mark :
NEGI : MVTR :: SING : ?
(1) TRNS (2) TRNT
(3) FRMT (4) HRMT

45. In a certain code language ‘ki ru pi’ means ‘nobody like cruel’, ki mi cha’ means ‘king was cruel’ and

‘ru pi cha’ means ‘nobody like king’. What is the code for ‘was’ in the given code language ?
(1 ki (2) mi
(3) cha (4) ru

46. Read the following information carefully to choose the best option for the question :
‘P % Q’ means that ‘P is the sister of Q’
‘P + Q’ means that ‘P is the son of Q’
‘P x Q’ means that ‘P is the husband of Q’
‘P — Q’ means that ‘P is the brother of Q’
Which of the following means ‘A is the son-in-law of G’ ?
(1) AxU+SxG 2) A+S%UxG
3) A-S+UxG 4 AxU%S+G

SPACE FOR ROUGH WORK / T% S o feTu S8
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41, AN IS IO’ fohe TsT | Ra © 2

(1) &9 (2) TSegH

(3) e (4) =i
42. WA % T8 3D-Tf5 STHER T 3gHTCT el fohaT T e 2

(1) TaTRr (2) IR

3) ¥ (4) STIE

43. ARG YehIHTE a9 5 (?) o T W RIT ST =1 2
AlX, B4P, E25J, J100F, ?
(1) 0289D (2) 0225E
(3) Q289D (4) Q225E

44. AT forg 1 36 foshed @ SreTiud SIS SiT et I § T W e oh T80T hLdl & ;
NEGI: MVTR :: SING : ?
(1) TRNS (2) TRNT
(3) FRMT (4) HRMT

45. U fAf3a g 9T H ki ru pi® T 37 & ‘nobody like cruel’, ki mi cha’ T 319 ® ‘king was cruel’ 3R
‘ru pi cha’ T af 7 ‘nobody like king’ | & TS IS I H ‘was’ & AU ISR 2
(1) ki (2) mi
(3) cha (4) ru

46. 3 o T we®r F=s1 forshe I+ o forg fmfoifiaad Serrt st emaes v -
‘P%Q FIFLTH P, QFT T
P+Q HALIRFE P, QF Y
‘PxQ HAFZFF P, QT UT &
P-Q HIFLTH P, QHTWE R
ffafaa o @ fraawr 1 8 <A, GHTEMR D 2
(1) AxU+SxG (2) A+S%UxG
(3) A-S+UxG 4 AxU%S+G
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47.

48.

49.

50.

51.

If 26t January, 2020 was a Sunday, then what day of the week was it on 16" March of that year ?
(1) Sunday (2) Monday
(3) Tuesday (4) Wednesday

What will be the measurement of the angle made by the hour and minute hands of a clock when the time is
‘quarter past 3’ ?

(1) 6% (2) 10°
1° 1°
(3) 75 4) 85

If in a certain code laguage, ‘"MERCURY" is coded as ‘NGUGZXF’, then how will ‘ENTANGLE’ be

coded in the same code language ?
(1) FPXFSMSM (2) FPWESMSM
(3) FPWESNSN (4) FPWFTNSM

The problem given below consists of a question and two statements numbered I and II. You have to decide
whether the data provided in the statements are sufficient to answer the question.

How many sisters does Sunny have ?

I.  Sunny is the only son of his parents.

II.  Sunny’s parents have three children.

(1) Only statement I alone is sufficient to answer the question.

(2) Only statement II alone is sufficient to answer the question.

(3) Statements I and II together are sufficient to answer the question.

(4) Either statement I or II alone is sufficient to answer the question.

A boy leaves his house. He travels 6 km towards South, then travels 8 km towards West and further travels
9 km towards South. How far and in which direction is he from his house now ?

(1) 13 km, South West
(2) 17 km, South West
(3) 17 km, North West
(4) 13 km, West

SPACE FOR ROUGH WORK / T% S o feTu S8
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47.

48.

49.

50.

51.

Ife 26 AT, 2020 T IR T, T SH IS 16 AT I THIE T hI9-97 {7 o1 2
(1) e=m (2) GHaR
(3) HIER (4) FuER

ot % w37 i <Y gt o <fi=r 3 SRIOT ST AT SR B0, S HE 3:15 7 2

[o}

1 ()
(1) 65 (2) 10

[o}

3) 7+ 4) 8+
2 2

o

Ife e Ffq e YT H, ‘MERCURY” &1 ‘NGUGZXF’ & ®9 H whifed foham St 2, dF ‘ENTANGLE’ &t
FHY Shle AT H H ehifed fomam s 2

(1) FPXFSMSM (2) FPWESMSM
(3) FPWESNSN (4) FPWFTNSM

= &) TS gHe | Uk T 3R S) e @ et gt 1 3R 11 R | 31T9eh! I8 99 T © foh et § & 8 Sieeer)
T SR I & h ToTq 9Te & a7 =1 |

it it foraft s & 2

I T 319 ATar-fdT 7 geheiiar sleT 2 |

I & & amar-foar & fF sea €

(1) ot YT | I T I o o AT TATH R |

(2) A FHT I1 T T ST < o AT =H 2 |

(3) U 1 ST 11 Teh |1 T T I 4 o (T o & |
(4) HIA HAT AT TR TT FTSW A & fw qata 7 |

Teh TISohT AT B Y TehetdT & | 98 Sfa0r oY 3TR 6 km 3hT I3 LT &, FORT aferm oY 311K 8 km 3Rl I3 LT &
HIT AT FEI0T AT A9 km T AT HTAT € | A g 30 S H fehet1 gL S fopwt feem i @ 2

(1) 13 km, Sfeqor ufgm
(2) 17 km, Sfeqor ufsm
(3) 17 km, W fH
(4) 13 km, 9f3m
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52.

53.

54.

(20)
Find out which of the answer figures completes the figure matrix :

Problem figure :

22| || X |]] 8%
LR

9

X%

(1) i 2) 3) i 4)

A clock seen through a mirror shows ‘quarter to seven’. What is the correct time shown by the clock ?

(1) 615 2) 6:17 (3) 5:17 4) 5:15

The sequence of folding a piece of paper and the manner in which the folded paper has been cut is shown

in the following figures. How would this paper look when unfolded ?

e .’ g
" A <
/, ,’, \\ N
O 0O 0O 0O 0O 0O (o] o
M o o 2 o Qo 3) (@) 4 loQOo
o 00 0O 00 0O 00 (o] o
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(21)

52. QTR foh hIM-HT I ST, STeRfcr Afgee shi qu st 2

(1)

THEAT SR :

90

9

9

9

X

2)

3)

4)

X%

53. YT o HTEAH U S ST oTedl Teh 92l 6:45 feardt & | S8 o) g femmen e et a2 2
(2) 6:17

(1

6:15

54. TS o T e i IS 1 360 3R 8 e ¥ S T FATS i 1T T 8, IH FTIRad SThiaa § fawm

(3) 5:17

T 2 | ST 39 ShITST ohl @A ST dl I e feg 2

(1

7’
7
4

2/
4
A

000
o O
000

2)

00O

ocQo
oco0oO

3)

o

o

o
0]
o

o]

o

4) 5:15

“4)

00O

00O
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55.

56.

57.

58.

Find out the missing (?) number and letter.

C C
A ? | 44 F
80 31
5 20
? 8 |13 E
G I
(1) 59andK
(2) 6landL
(3) 6landK
(4) 59andL

What will be the next number of the series
3,6,10.5,17,26,?

(1) 31

(2) 38

(3) 40

4 41

In a class of 40 students, Anjali’s rank is thrice that of Anita. There are 4 students who have ranks worse

than that of Anjali. Anita’s rank in the class is :

(1) gth

(2) 10t

(3) 18t

4) 12t

Six people E, H, K, M, S and U are seated in a circle facing the centre. U and H are immediate neighbours
of M. E is the only person sitting between K and S. H is to the immediate right of S. Who is to the
immediate right of U ?

() M (2) E 3 K 4 S
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5s.

56.

57.

58.

T (?) HEAT SR &R HT 941 G|
C C
A ? | 44 F
80 3]
5 20
9 8 |13 E
G I
(1) 593K
(2) 613L
(3) 613K
(4) 59 3L
ST <hT STt AT T BT 2

3,6,10.5, 17,26, ?

(1) 31

2) 38

(3) 40

(4) 41

40 BTAT 3h1 T T 5 SISTA 1 1 AT 8 A AT € | U 4 BT & FoTh (o 3TSiel § o @ | her § e
EORCEE

(1) oot

2) 10at

(3) 18af

(4) 12at

BEAME, H, K, M, S 31 U &% 1 3T 48 e TH g0 § 93 & | U 3R H, M 3 afTehe vt & | K RS
1T 3 AT TRHT TR E B | S o 31k 315 SR H & | A U o 31k aT8 AR A 7 2

() M (2) E 3 K 4 S
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59. Find out which of the answer figures from the options can be formed using all the pieces given in the

problem figure.

Problem figure

Q O

AN

<

= =
(1) @/\@ @ O\VJO
o | OF @ | 82

60. Read the given statements and conclusions carefully assuming that the information given in the statements
is true, even if it appears to be at variance with commonly known facts. Decide which of the given

conclusion(s) logically follows from the statements.
Statements :

No keyboard is a mouse.

All mouses are computers.

All computers are laptops.

Conclusions :
I.  All mouses are laptops.

II.  All computers can never be keyboards.

(1) Only conclusion I follows

(2) Only conclusion II follows

(3) Neither conclusion I nor II follows
(4) Both conclusions I and II follow
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59. AT AT fop ww AT # faq T wvil gehei & forehedl | | ShIH-HT SAThf TS ST Hehd ! § 2

T AT

Q O

AN

<

= =
(1) @/\@ @ O\VJO
o | OF @ | 82

60. U T aeRet ST fIhT T SATYEe UE 78 W U foh acheat 4t T SR T 2, Wi & I e w9 o
T AT & T STl & | 8 O i Toh 1T 1T, Feahelt & & i9-91/8 A1fheh &9 8 Shal T TR0 Hd1/d 272 |

T -

IS eI HISH T 2 |

Tt WISE HFRp E |

vt F T E |

Ty -

L o aeE AR

1L &t e ohft oft et e & e |

(1) e e 1 STeroT T @

(2) et T [T STaroT T 2

(3) 7 ar fehe [ 3T & 11 ST ST @
(4) 3T freed [ 3R 11 STEr o 8
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Read carefully the following instructions : fAeferiaa A<y &t Lq A A T2 :

8. No candidate will be allowed to leave the OMR Answer 8. ,E %ﬁqﬁmﬁaﬁaﬁ@wwmﬁ?ﬁ ST 1 )
Sheet blank. If any OMR Answer Sheet is found blank, it T T | AT HE ALTALAR, ST TF Nk TR S &, qr
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Answer Sheet. HE AT AL |
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